AR (FERk25%FE6H)

X5 0445 8
k] (TR0
i B Eh #= (ke) =& (M) FHHE{m(F/ke)
004mLE 1,942 478,671 246
51K 58 50,208 866
54F0F0 L 1,884 428463 227
006kL=hH 215 304,474 1,416
51 KB 215 304,474 1,416
0072 H 1,126 614,687 546
51K 1,060 594,216 561
62% 1% 66 20,471 310
008.5:Y 607 321,332 529
19811 41 17,648 430
20123 146 51,852 355
24=F 30 27,405 914
26D 0 0 #DIV/0!
51 KPR 233 93,778 402
52E[E 157 130,649 832
010lFFESE (KR) 557 139,881 251
02& 7 97 18,816 194
51 KR 460 121,065 263
012FEHL 5,785 3,924,299 678
24=F 1,105 1,332,720 1,206
51 KRR 4310 2,321,088 539
52E[E 370 270,491 731
013ZFDHHL 374 187,845 502
51 KRR 104 54,600 525
52E[&E 270 133,245 494
014FEL vHL 1,041 1,064,953 1,023
10FE 300 72,450 242
51 KRR 30 40,320 1,344
52E[E 711 952,183 1,339
015h1=£{BELvbL 724 295,050 408
10FE 640 268,800 420
24=F 80 25,200 315
51 KB 4 1,050 263
016ICL A 328 52,878 161
24=F 7 2,058 294
51 KBk 321 50,820 158
017&I1E 24411 15,207,477 623
025 & 970 430,395 444
04= 4k 5 1,050 210
10FE 757 385,404 509
13E 260 104,475 402



21E4%H] 20 15,120 756
24=F 5,460 3,597,563 659
26 AR 80 34,230 428
51K 11,464 7,122,519 621
525 [E 4,645 3,160,246 680
6218 300 72,450 242
6516 & 120 94,500 788
66 I 330 189,525 574
018=H 5 7,598 7,644,100 1,006
13 R 5,736 5,810,747 1,013
24=F 1,542 1,542,240 1,000
26X AR 126 105,840 840
51 KR 174 157,973 908
52E[E 20 27,300 1,365






019&ZCL 5,782 3,620,861 626
138 m 2,032 1,174,992 578
224=F 3,620 2,321,024 641
52E[E 130 124,845 960
0207Khrtuly 236 742,644 3,147
56 1R 236 742,644 3,147
022Z D h Ly 34960 25,997,167 744
ot1itiEE 1,430 1,508,955 1,055
04= 3 4,906 795,165 162
13FRERE 5,197 4,646,586 894
24=F 6,593 5,281,669 801
51K 15,099 11,512,744 762
52EE 1,555 2,063,048 1,327
644a if] 180 189,000 1,050
023FELELN(KR) 349 208,163 596
04 = Ik 199 67,463 339
51 KR 150 140,700 938
027HFET L 330 484,044 1,467
138 ER 330 484,044 1,467
028Lv& kY 326 357,630 1,097
51 KR 326 357,630 1,097
030F D=L 7,944 9,591,079 1,207
02&#H 70 45,309 647
04'= I 110 115,920 1,054
24=F 340 531,300 1,563
51 KRR 7,393 8,877,319 1,201
52&&E 6 11,781 1,964
62 1% 10 6,930 693
651 & 15 2,520 168
0328V &S 19 19,425 1,022
51 KRR 19 19,425 1,022
0338 1£5 450 378,757 842
51 KRR 104 43,680 420
52EE 346 335,077 968
034HM 58 9,905 7,310,928 738
04 = Ik 1,950 1,281,525 657
224=F 210 158,760 756
51K 6,698 4,897,187 731
52E[E 1,047 973,456 930
036=[1 118,845 79,697,022 671
o1dtiEE 11,135 7,866,862 706
04= 3% 5,929 3,589,383 605
10F 2,992 1,866,480 624
13T 38,348 26,459,665 690
224 7,075 3,752,701 530
24=F 22,877 15,274,674 668



254#% 108 34,650 321
26 AR 125 74,498 596
51K 27,209 18,135,297 667
52E[E 1,442 1,610,405 1,117
54F0FX L 1,455 872,282 600
60fE 5 150 160,125 1,068
037F9 4,410 3,789,935 859
04= 3 500 419,372 839
13FRERE 260 120,330 463
224=F 3,650 3,250,233 890
0381=H 32,952 43,007,053 1,305
10FE 160 283,500 1,772
138 2,795 3,531,055 1,263
24=F 14,581 18,619,961 1,277
26 X &R 240 93,240 389
51 KR 14,757 20,050,077 1,359
52E&E 419 429,220 1,024
039 4)LIL—H 1,987 1,501,548 756
24=F 860 625,590 727
51K 630 419,475 666
52EE 497 456,483 918
041(F% GF) 1,672 1,437,702 915
26 X &R 92 173,502 1,886
51 KR 760 600,600 790
50110 100 84,000 840
6012 & 620 579,600 935
0439 1,316 1,391,250 1,057
087k 3k 878 939,645 1,070
51 KRR 336 348,180 1,036
59110 102 103,425 1,014
0459 3= 2,679 2,132,460 796
51 KRR 2,243 1,947,638 868
52E[&E 76 101,346 1,334
585 B 360 83,476 232
0488 %" 752 864,596 1,150
51 KRR 752 864,596 1,150
051SAE 70 52,920 756
52E[E 70 52,920 756
0521=658 1,529 1,335,245 873
24=F 190 99,750 525
51 KR 1,132 1,010,436 893
52E&&E 207 225,059 1,087
054L\&F 54 75,042 1,390
51 KR 42 32,885 783
62% 1% 12 42,157 3,513



056F4LADH 30 55,913 1,864

26X AR 30 55,913 1,864
059/h(FF 110 109,725 998
51 KR 110 109,725 998
0609 Y& 330 253,575 768
ot1dtiEE 330 253,575 768
0619 B8 LVH 8,466 3,921,036 463
02F 7 1,560 689,178 442
03EF 75 42,000 560
04 3 242 109,935 454
10FFE 765 395,220 517
13ER 3,333 1,477,308 443
1981 98 43,680 446
51 KBk 2,393 1,163,715 486
0624 L yh 1,089 1,197,041 1,099
215% 190 351,540 1,850
51 KRR 899 845,501 940
063HA =S5 LVH 4122 71,222,674 1,752
13ER 971 655,501 675
51 KB 1,540 3,366,353 2,186
52E[&E 35 88,200 2,520
6012 & 100 120,750 1,208
61& )1l 1,476 2,991,870 2,027
065F DL H 9,192 3,477,083 378
028 % 2,570 646,590 252
03&F 1,630 528,729 324
04'= I 20 18,900 945
10F % 10 7,350 735
51 KRR 3212 1,310,354 408
57 LU 210 96,390 459
601E S 100 111,300 1,113
61 )l 1,440 757,470 526
06671=c 1,573 1,680,157 1,068
148 %] 0 0 #DIV/0!
51 KBk 1,565 1,659,682 1,060
6072 & 8 20,475 2,559
067L N2 712 43,785 608
138 72 43,785 608
072 EZXY 7,453 10,482,757 1,407
04 = Ik 373 883,688 2,369
2240 4,056 5,085,204 1,254
23 B 730 955,227 1,309
224=F 365 469,352 1,286
51K 1,648 2,727,036 1,655
52E[E 281 362,250 1,289

073H AU 2,081 2,353,340 1,131




04E I 373 314,408 843
51K 252 228,816 908
52E[E 1,096 1,469,916 1,341
555 HY 360 340,200 945
074Z DAY 53,958 66,503,432 1,233
138 m 6,498 8,738,730 1,345
22450 4,190 6,666,969 1,591
23K B 447 1,045,632 2,339
224=F 13,827 18,768,708 1,357
26X AR 355 432,390 1,218
51K 21,603 19,404,404 898
52EE 7,018 11,440,299 1,630
59140 20 6,300 315
0753 H L AN 199 457,170 2,297
24=F 35 55,125 1,575
51 KR 134 358,680 2,677
52E&E 29 43,365 1,495
555 HY 1 0 0
076 T & 10 7,875 788
51 KRR 10 7,875 788
07831 4 29,400 7,350
51 KR 4 29,400 7,350
081F Dt f BB 6 10,353 1,726
62 b 5 8,925 1,785
67HER 1 1,428 1,428
085F D th 22560 17,576,728 779
I B[#::3E] 6,816 559,125 82
04 = Ik 1,610 34,065 21
08Tk Ik 358 1,214,325 3,392
13ER 6,081 3,246,795 534
2048 F 70 270,375 3,863
22450 382 674,310 1,765
23 B 170 190,680 1,122
224=F 535 1,544,813 2,888
51 KRR 5,024 8,961,393 1,784
52E[&E 1,344 816,482 608
59110 170 64,365 379
382,430 329,613,162 862




